44"-1-..

1. 40% =ifts wAIER-73 X 960 § 3R 509
wfth FHER-9F Y vgd & | 10% =afe
Sl TR vgd € | fora St gt 3

, Yo gEeR T g E 7

 40% persons read newspaper X and
50% persons read newspaper Y. 10%

- persons read both newspapers. How -

many persons do not read any of the
newspapers ?
(A) 15%

i: '___.[C) 20%

B) 25%
D) 30%

o sqfcurrq’&waﬁauﬁéaﬁtqﬁﬁ‘man
45 | vieal ghom .

The average of 5 results is 46 and that of
the first four is 45. The fifth result is

(A) 10 (B) 1
© 125 ‘, ; _
S5'H6 + g ‘?."t:- = G
3. V298116 +v7744 =
(A) 12.62 (B) 1226 J’“
[f{:} 14.26 | (D) 14.62

4. mﬁ&mﬁ%ﬁnﬁiﬁaﬁ%ﬁmﬂ :

w2 ?
A) =@E  (B) deei
© T (D) wRW

Plant cell wall is made up of what
among the following ?

(A) Glucose 4B) Cellulose |
(©) Sucrose (D) Fructose

5. (521x6.32)-2.9272 =

7. fra freed i e FiA-TH @ 7
AR T - gaa
®) fiftg -39,
(C) el - T
D) W -HT

8. ‘@areht g gehHT — ETal o 31 7 ;
(A) TS G EA |,
(B) NEHGAT: A AN,
AC) 3wy ATl 1 T F |
©) TR,

9. ‘meff’ wwwﬁﬁﬁawu

(A) -+ 3Eff «

(B) W& + Y » ;

©) =fe +xfy ég%jg
D) @ + ey “

10. 68 e & Ty i v
TR ? ﬁawﬁ

b HY-ig
(A). IR -39 gy = 3y
(B}S:I"-‘?T—ai‘a %m'[a_._q.‘ﬁ'ﬂf

(C) & - Fhay m_ﬁ-igr -
3+ D) mﬁa-ﬂﬁaw m_fg,;mﬁj

(A) 32 . B) 30 . | | )
©) 34 *"g} = 1. ik o E— %?.
(0.0502+ (0412 + (0.073y2 L | AA) T, wmof, s
€ : 73y
% - 40, Dﬂ5}2+(ﬂ'ﬂ4l)z+m'qu?3}2'—, (B) =, ﬁ?ﬂ,&?ﬂﬁqﬁ
() m @y 4T (C) m,w,ﬁmf
e ©, o ® B, o, o
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Read the passage carefully and answer the
corresponding questions : (Q. 12 and 13)

Last week Caroline went on her first deep sea
fishing trip off the coast of Catalina Island.
She had always enjoyed fishing when she was
a child but had never gone fishing in the
ocean. Her dad liked to fish very often. Her
big brother Jack was never the outdoor type,
so her dad took her out often. One of his
favourite spots was Lake Isabella, which was
about two hours from their home. She recalls
how she and her dad would spend a long,
leisurely day driving to the lake, and then
taking his small boat out on the water. It was
quiet and peaceful for the most part. Those
memories remain some of her most cherished
moments of her life. Caroline has a friend
called Robert. On this day, Robert invited
Caroline to join him on his company’s fishing
trip. Robert said it wouldn’t cost much but
would be a lot of fun. He knew Caroline
enjoyed lake fishing and figured she would

have a great time, “Okay™, said Caroline, and g

to the ocean they went.

The first thing Caroline noticed, however, was
the motion. “Wow, this boat really rocks”,
Caroline told Robert. “Don’t worry about it.
You will get used to it”, he said. The trip to the
waters off Catalina Island took about an hour.
Caroline marvelled at how quickly she lost

_ sight of the mainland. It was a bit scary when
she thought about how alone they were in this
great ocean. Soon, it was time to collect squid
for bait. The small boat stopped in.the water
and the crew turned the bright light into the
ocean to attract the squid. Before long,
thousands of squid rose to the surface and
were collected for bait. After about an hour,
Caroline didn’t feel the rocking ~motion
anymore. They were ready to fish. Caroline
caught her first ocean trout. It was a beautiful
day. j

13.  Why were the squids collected ?

(A) For selling (B) For eating
(C) ' For cooking (I3) For baiting |

we Al 3R 39T A T, ﬁ@ﬂﬂﬂ
e, wag I Tl o TrET <hl T A
£ sl 38 B | Afen Few @
TR FEE 8 7, _4} .

Pointing to a woman, Nilesh said, “She
is the only daughter of my wife’s
grandfather’s only child.” How is the
woman related to Nilesh ?
(A) Wife (B) Mother

- (C) Aunt (D) Daughter

14,

®)
(C) == (D) #&

15. 37ETd 37eM i /Find odd one out :
8, 27, 64, 100, 125, 216, 343

A 100 ®B) 27
(C) 125 (D) 343
16. 1 SHadt, 2006 = Tqar &1 | 1 A=,
2010 1 HHTE T 1 °1 & &1 72
HA) TR (B) HHaR
(C) Taar (D) TIeER
It was Sunday on Jan. 1, 2006. What was
the day of the week on Jan. 1, 2010 ?
(A) Friday (B) Monday
(C) Sunday (D) Tuesday
17. Gij{f: synonym for the word : “Partia]”
(A) Intactx — [EB) Tncomplete |
©) Pﬂﬂ;fcl (D) Unb;ﬂken
18. Choose the ¢correct antonym : “Disanno
B ; mt” ;
~1A) Satisfy (B) Sale Fin
(©) Example (D) Meet

19.  Give one word substitute for —

. “The practice of wris: U
12. Was Caroline’s brother an outdoor type ? Eﬂmﬂﬁin\—\ g dimi“" }t_u;.:g, eﬁ‘l_tl_njg_ and /or.
; DJ:FA‘I No | (B) Yes ~A) Lexitom— . ==
é%g (C) Notspecified (D) Can’tsay 'C} Philglﬂg'ranhy (B) Blﬂgraphy
e s (D) Psychology
[ To join us on telegram ‘Jr\ ’l‘L ._i_ \ '-;]-;.
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20. 3f% NORMAL 2 RPNLBM ¥ =v & 63) smed, 2022 H, WRA B TEEH SHEtaRy
Hifeq firan s 8, A GATHER %1 %y 2o o1 Sqee Frefertad 3 8 ohe e
180 ? 5, @FPH e T T 7 -
If NORMAL is coded as RPNLBM, then AA) T (B) _hictshrar
what is the code for GATHER ? ) ¥, (D) TTEw

~(A) TBGRFH
(C) TBHRFH

(B) TAGRFH:
(D) TBGREH

21. Tamiffem vt # wom fog mo # s
e % a1g Fread fre g | Frewt
w1 96 3R R 77+t 6 few o st 3
T % a1 s am w9 @ 7 a2 6@
Tt foru famr few o et w51 @i =g
Y ITE AR | =
FoF ol fopard O € | o T e
B 1 58 S hois F | _ EEFY

= Grage

i

L.

1L
. Fo s wifad * :
Iv.

(A)
(C) Ha=TII
In the following question statements are
given and these statements are followed by-
conclusions. Read the conclusions and then
decide which of the given conclusions

logically follows the given statements,
disregarding commonly known facts.

Statements : All the books are papers,
Some papers are journals. Some journals
are calendars,

Conclusions: ;
I.  Some journals are books.
II. ~ Some calendars are papers.
III, Some l?nﬂks are journals.

=]

2 24.

25.

IV. Some books are caiendﬁs.
(A) OnlyIl (B) Only1
(C) OnlyIlI (D) None of these

(D) TEE |

In August, 2022, India’s first underwater
metro was inaugurated in which of the
following cities 7
(A) Pune

(C) Bangalore

(B) Kolkata
(D) Hyderabad

(23) fmaferfm @ fibw 20 % A7 3 veen

i s A e 7 -
(B) FwET

(€ F=  xD) M

Which among the following country’s

scientists have prepared first synthetic
-embryos ?

(A) Israel (B) USA

(C) Canadax (D) China

Hm?ﬁg‘t Tz A W § 3 fra

U HOIBX (e fewivee gfem

) A e 2

(W) WERy - (B) a1
£O) T | () sevww B

(), T

Prime Minister Narendra Modi has
launched the IIBX (India International

Bullion Exchange) in which among the
following states ?

(A) Maharashtra (B) G._;.a
© Gujarat

®) &
(C) T ) =
Which among the 15 owing countries
conducted its largest-ever military
exercises around Taiwar in August, 2022 ?
(A USA ' (B) Russia

(C). Israel . (D) China

04
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26, W 3 qEE, 2022 A
T T e WIS JUHE {31
%1 STrTer feRaT T |
(A) DEee ~(B) FPECEE
©) T (D) FHARETE
The Indian Army had conducted a pan-

India satellite communication exercise
named in July, 2022.

(A) Spacelight (B). Skylight
(C) Moonlight (D) None of these

7. v ¥ e @ vl ¥ o e
<1 Tael IS 1 SgEISH ha1 T 7
(A) R EEEE
(B) EAgE feredt

—(C) gﬂﬁmm |

(D) IEHEHTE & TGS

. First flight of “Akasa Air” had been
- inaugurated between which two cities in :

India ?

(A) Chennai to Mumbar

(B) Jabalpurto Delhi.

(C) Mumbai to Ahmedabad
(D) Ahmeﬂa_bad to Lucknow

-zs. aqm@an:ﬂqaq@ﬂa%sasaa%aﬁ
sAfrrm frefafiaa & foea e 7
FUus R TR 7

29, Wﬁgﬂﬁﬂﬂ%ﬂﬂﬂﬁﬁﬂ@?ﬁiﬂ?ﬁ
i
(A) FAR B) ©H
,.(C) q\t{ﬁ (D) r{l?]ﬁa

Which among the follnwipg is not a
neighbouring country of Ind.xa ?

(A) Myanmar (B) Chlnz?

() UAE. | (D) .Maldwes

30. ﬁnﬁff@ai‘i@rﬁamﬁmﬁaw
. ;ﬁ@ﬁﬁﬁwﬁaﬁ%m*mqmmﬁ
ot 3 < YEAA HI & 7
{ (A) NTHARE  (B) IIT BTG
| () nreE YD) T HSE
Which among the following IIT has
launched the ‘Nilekani Centre at
. Al4Bharat’ to ‘advance Indian language
~ technology ? _
(A) 1T Kanpur  (B) IIT Hyderabad
(C) 1T Bombay (D) IT Madras

forg e Wit it reET ﬁ“%i-eﬁlﬁﬁ
Tufreft gl < aERl 3R UPE GRE W
U TP e ST fehat T ?

AA) Ffhawe |B) SR
(C) IMF (D) g HE

A National Conference on Drug
Trafficking and National Security was
held at Chandigath under the
chairmanship of which Union Minister ?
(A) Amit Shah (B) Smriti Irani

31.

ﬁ@% (A) Tem e (B) T T
B ¢ mimm (@) R
‘Badhe Chalo’ campaign under Azadi ka
Amrit Mahotsav has been launched by
which among the following Central
Ministry ? . :
~ (A) Ministry of Education
" . (B) Ministry of Culture
(C) Ministry of Home Affairs
(D) Ministry of External Affairs

(C).. Anurag Thakur (D) Narendra Modi

1 32, Fr=fafea 8 @ =9 o1 o9 v § q2en

@) T [B) A

Which among the following states

became the first ‘Har G : :
state in Tndia 2 ar Ghar Jal’ certified

(A)" Kerala (B) Goa

@

( To join us on telegran-
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b | S

@ 3 ' A Tl 2 | e e PR A A T
siwig 4 fafr R B8 T ) | g omepecC i

BT AT 8 7 (A) ¥TEes AN
(A) 139 | AB) 227 . FATEHE | _
(C) 15f@st (D) 107aw (B) TGS AU THHEH HHANT 3l
International Day for Biologica] FABHE =i .
Diversity is celebrated on which date ? (©) }E”si'g Ao IS IS e
(A) 1 April (B) 22 May FATRHE o
__ (©) 15December(D) 10 November (D) TES W HEOH R
34, ﬁnﬁf@aﬁﬁaﬁqmmmmm FATEHE I
TIE® ? ' UNFCCC stands for what among the
RIERRY . following ? : :
Eg:). iﬁjh (B) MK g (A) Ungitsd Nations Federation
-9 ) I § Convention on Climate Change
Which Among ) owing 18 the _~(B) United Nations Framework
largest river island in the world ? Convention on Climate Change
(A) ManpuralIsland : (C) United Nations  Framework
. (B) Srirangam Island Council on Climate Change
. (©) LuluIsland ; (D)  United Nations Federation Council

(D) Majuli Island on Cljmate Change

3s) e i gt g ¢ | 3 R P 3 o 7w 7 i

(A) e %I (B) e 7w FURL - . 1y
© wieAwss 0) wdwia ¢ HA) STRW | B) ¥ Eg%

What among the following is the (C) wlew (D) 3Ty waw
national currency of Hungary ? Nautanki is a folk dance of which among
~(A) Hungarian Forint the following states ?
(B) Hungarian Naira (A)  Uttar Pradesh (B) Kerala
E% ﬁungart{an Pound (€©) "Kamataka (D) Andhra Pradesh
one of these g
b < 0. FEE e afify T
36. TS S FIE W7 F YR WA IR F2 - A
9B Y 1 AW ST | S LV KA S
A(A) smyew | B) wEwy © s f (D) e
(C) = (D) T The - headquarters = of International
~ Name the first state in India formed after | -~ Olymbic Committee i of -
independence on the basis of language. : (A) USA (B) Switzerland-
(A) Andhra Pradesh (B) Maharashira (O~ Geanany™ “ (0} "None of tiss'
(C) Kerala (D) Goa . ﬁwﬁﬁaﬁgﬁmmmm
3. SEREER R TR AE TS vt g »
g ST R | | LU L Ry ~c——
(A) 219§ (B) .18 = - AC) TETER e
= i Whe S (D) Teiigerer 3R
-AC) 2598 | (D) 309§ i O among the following wrote famous
___is the minimyp age for book ‘Powers ind” ?
holding office in the Lok Sabhg, ' {%j? gdahatma.eand]ﬁ
" {A) 21 yoars -« (B):+ 38 yedry © G\;;a;;ru Vivekananda

£ 30 - .
. & Raoeans @) i : (D) Rabindranath, Tagore
e ( To join us on telegram 3
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RI%
frfifee sl # AAES TR © ™
S It (. 42 & 46) F IR QR |

A o F g B S8 AR wR
" rar | e el w1y <R @, e
a5 T & et ot En @ | e aa s
At o ) 1 T § | e § @
S e seE A AEER e @
el 3 o1 WiEe S I 6 sierefie ferm
2 et 7 feeh w9 # v I g R |
ATfec TR Hiee v forgmen g 3 T 6
R W w0 @ | wiees 8 € 6 g
<frra, T, T AN T, - b Tl &
ﬁi“ﬁu,a . vmﬂﬁ_ﬁa‘ﬁﬁ!@q_ﬁq
3fi grqga e S w9 w8 | e
el 7 29 3 3| 9T i T el S
oft, 3@ |uE i Aenyst w1 oft, TEA-E S o

3 5 TR GUTS 1 7 Shael T WA B 2,
1firg TSt o Wi 98 A9l el off e
2 | THL § hefl FHAfehal, ST, PR

33 sratea e % gl B WA R @ |

wiersfi w9 3 =AR Tme o @ | R wifee R

R el & Teht 7T e
el TOa @w_% 5 Hﬂfﬂisﬁ@ ED
HANEHRI 9 @S AT gRI 9&dd HeTec
1 TSR HH 01D e gear & | afecd § 98 Wih
2 0 g e qeran 7 oft i B | :
42. gy I Ty =51 frafe frg T
AR 7
#A) TudHmemy |
UA(B)  GSIHTET i TTHA T ) |
AT Taht ¥

©)

(D) SREETIHR

D) =79 & Ig 8l

44,

45.

e & ?a aw @ g difedi H

FEFHI AT 8 ?

(A) gﬁammzﬁﬂ@m%,wﬁ'ﬂ
arfeer g GO GHIS ) TSl A
e IHEATR | >

i, SEhfd-TwIar, o < &R,

3:@9.“[:' Wﬁﬁﬁﬁﬁm'ﬂ%ﬁ B
(D) &AW 3 et aAAfwar, SR,

e S e Tl S

=1 HfEed g & ST S SRl © |
T Shalel THTS o1 UUT 1 &1 8 7

46.

() i Al g wH B e

3R ferm et o WeR Hth 3T guR
AR SRm AR

AN
e ok et B et @ 1%

(C) Hif% Tfeey T <6 e wgait
B e sufyvem 3R v
HIHR T Rrgrar 2 | <

(D) ﬁ%m&a_m%mﬁﬁm’

A ”;EI!IIG;E'E“ ﬂﬂiﬂﬂ’lﬁﬁﬁ?

T

E% ) 1wt 3fea wids =18

X

© t.me/lUPPCS1

@ stk @
e (D) et iy
»

g
e s
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ornice,

PR smedz @) wmgs @R B
ST (9. 47 & 51) F ITC AR |

a i amoEr wfe # o 9E R

B R S Ao o w2, v 98 2R
A R, R s <6 oy 78 2, fre AR
TR H B AR AT g ww A
W R | e A, w2 o, g5y e~
350-dd, W-U, derm-ged AR FW I
T T8 T& W T S Y - fels R
%mﬁa‘rﬁﬁmmﬁl%maﬁmﬁw
R fore Tor-Femmftr frg gam 2 | g7 it & farg
ﬁmﬁﬁaﬁjmgﬁaﬁs‘m?ﬂmﬁﬁrﬁm
e & 9o @ A o, oy B uRowomen 3
A" R | 72 8 SR R weuE @ T w@ 9

I THAT ], W 3R i H 2w sy
el @ | 51 o 6 19 PR | ve-ue g |
&1 36 <¥ B | S T e e ar |

_s;a%gf-re'-m‘im‘%_ | ST Hae Fegar & it o

Tl 2 ég gk e et =1 R

SR dl & & eft B) v A ol g
%qﬁq@]%%ma@mﬂa@ﬂﬁs
T AT A I AT g w1 3wk it
Sl 791 T 92, 98 e A 3K 3 9 | 3
<@ 16 99 A T W aw AW 9 wa,
S-FT-2 T & @ I 2 | Hhe FEH M Al
Fedl 2 ik TBA & T A 3uY Ty ¥ g
e 61 38 A & I8 BT 2, wfw e 2 |
TEifeTe S -3F 719 HALIAT R -4 97 D
Tl ST & 3R e g el St

04%

e

47, e "meaﬁqmﬁ?ﬁq

48.

49,

50.

51.

16 AT §N @ 7

(A) ffim () =

(C) =&l _--"‘(D) W

(A) HR=SR G TA-TH g
A T |

(B) Hed ! aeTel 39 IR g Ewa & |

(C) G AT A % HH

3T 5igd §U 39 e I HIETHR L |

(D) H 9 I3 T8l
g ! e 9 I F 99 w T g9y
HHel 1 AT H8 HET FRT 7

- (A) EH W1 Ged gy MR A

famr a1 stgar =nfew |

"B whel % Fftr 1 a1 0 e o

S = Ifew | X
© FE= 3R safdar % anf W e
ifgg | © , -
(D) w3 srféar & unf g ae womy
SRR, Hif or A qga 2 1

mﬁtﬁm%ﬁaﬁ‘aﬁrﬁwm

¥ % WA’ o ey a2

() T T 3 srfen a0 wf R
%ﬁm%m‘a"fﬁn%aﬁtﬁwﬁm

mmm;

(B) ﬂ*ﬁ%ﬂaﬁﬁiﬁrmﬁ%y

©) 7 AR atfear it 2w ey iy
S’ﬁl'ﬂﬁ%w

D) WfiswIHE,| ¢

_Wmﬁmhﬁﬁmﬁaﬁm

?ﬂﬁ%f?ﬂ%ﬂwwm%?

(A) Wﬁmumﬁ|
B) R Harf gy .

)T Ty w57 wypeqrepr -l
t.me/lUPPCS1 ;‘i”;__

2o2 Jass
r o =%

—

TP

e 57
L

) ¥

-~
o
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o §. 528 56 : Frfafaa @i &1 srepy

o oA W R e et % IR |
Q. Nos. 52 to 56 : Study the following tabje
and answer the questions based on it.

[ RE TS A s S % o (e o0 e
Expenditures of a Company (in Lakh Rupees) per

|

i/

Year

annum over the given years
Y %+ WS / Item of Expenditure
5 o R |
/|98 | s
Bonus

Fuel and Interest
Transport on Loans

¥ /
Salary

Eodi
Taxes

2011

300 [ | [}E} Fun= 13.4 ES_-

(2013

340
524 |

112 22.5
105 31.6

1.52
2.84

10
75

(2014

340 | - 135 2.68 26.4 78 |

2015

-

i

450 [\ 152 2.96 3940 | g8 |

52.

0 St 5 S e o S

(A) T 26.66 @

(B) T2242¢m@

(C) 2882w (D) T30.12%m@

What is the average amount of interest
per year which the company had to pay
during this period ?

(A) T 26.66 lakhs(B) T 22.42 lakhs
(C) T28.82lakhs (D) ¥ 30.12 lakhs

DHI |
ﬁCTD

&

Mt
]
t‘w-“"""\l--.._

S5 W gt 3 fore il 0 e o S A
N 3 forg dut o7 iR W e A9
ol o1 ST SR T 2
The ratio between the total expenditure on
Taxes for all the wyears and the total 2 @
ExpendimrennFuelandTranspmtfcra]lthe,y- G

_Vears respectively is approximately ol e ta
~1(A) 109:151 | (B) 4:7

(C 15:18 (D) 105:108 e
56. = 2013 % U T WG W HUA HT FeA

=7 foa 8 ? oY

rSoey (A) ¥ 586.02Wr@ (B) 5004
_(e) T73844wm@ (D) T 582.08rE
‘What is the total expenditure of the ™" s

company over these items during the
year 2013 7

J—

-

(A) T 586.02 Lakhs (B) ¥ 500.4 Lakhs
| (C) T 738.44 Lakhs (D) ¥ 582.08 Lakhs
W H. 57 ¥ 61 : UF ARk A Uk feT # uiw +i
EiteT 3t 10 feai % foru fomme o ol | anferenr =61
G 3R Wl % IA HFGEE ¢ | (FR 6 Lfen

T o (@A % o) SR S g 1)

Q. Nos. 57 to 61 : A person bought five cars in a
day and put on rent for 10 days. Read the table
and answer the questions carefully. (Standing

35 ime for car is not taken as consideration.)
53, 7ty % SN Yt g R AT | e
e SRR | 10fe
7 Jq R ot TR FT T R FRHEAR| SR | e wm
yfesa g 7 ' / Mileage of |F1&d T /| Total time taken
The total amount of bonus paid by the M ;E::f;i‘;lt‘;:‘::
company during the given pcr]ﬂd t;i diesel used| covered during
approximately what percent of A 5 per day 10 days
amount of salary paid during this period * fa:ﬁﬁ_"la’ 25 Rt foft. | 1092/ | 50 9% / hours 20
(A) 0.3% (B) 0.1% Alto |/ km/litre litres o
O 0.6% (D) 1.5% " R /| 2 WM /A [ 108/ | 5SR /howss | w0
54. 301 ; W =9, 2015 Swift | /km/litre litres —
2011 & 37 &+t 7l Tﬁmﬂm ) ~ [feami /30 B af /ef. | T2 efet/ | 50 Jhours | 3
F S ] AT TR oty Tiago | /km/litre litres ,,,EE
Total expenditure on all these 1€ ot | 20 5.1, /&R | 25 efrer) 80%e /b
2011 was approximately what percent of Mini | /km/litre litres ours Ei
the total expenditpre in 2015 7. TR/ |25 Bt /oft. | 20 wfter/ 10053/ homrs
(A) 70.33% |(B) 6833% Kwid | /lawlire | Jitres | - J 33
© m67% D) T575% : e
© el e 04
“4g 5t 1Sy 2 t.melUPPCS1 sy 260 4 25,
c e —

T o
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WA

5 O
/
g

¥

I‘B't"b "-,ﬂ‘ FL#I’\

LR

L 1 L T
57. 10 et & S Aot SICTEEM & sitwm | g0, 10 fo=it & Srom fomm affit it g a9 <3
T1fef ST ST T YT 7 78 et gt 1 U feRaT T 7
What was the ratio of the average speed What was, {ne rm% ]E,[j;mt-h;f gota]l g ijstan(;:
i ing 10 days ? . & T
of Alto and Tiago during 10 days ° A) 18725 EB% 9:725
(A) I11:10 (B) 10:11 ; D) 9:5
() 5:6 (D) 25:36 61. 3 wft HRI grr 10 fet F 7 o 7 g
58. et 3R fawe fow o 10 oAl & dnm afl, HW A 3N T B F9: 150 5 3;
ST 7Y et 1 T i A UH-gE oy 300 ©2i & a9 el €, df HR A 3 B
AR AN W@ ¢ | e & 1, 3w 31Vt 1fet < STl <1 3T T HINT |
: 3 If the total distances covered by all th.
i.:rﬁ Ed EAT ﬁgﬁ I IET T B | cars in 10 .da%rg iicovereddby car A an.
_ ) car B in 1 ours and 300 hour
e e * ﬁ’F-ﬁHEmﬁ F W A T 2300 respectively, then find the differenc
T, %, qt atfeer sik fage Bl Uﬁ'—ggﬁ between average speeds of car A and B.
et ¥ g a1 vigsr o g R (A) 51w /=ver / km/h
T W 1 st ST B | (B) 50 fe.Hi. /=er / km/h E5E
S = (C) - 60 fep. 1. /aver / km/h S
(A) 22 a% (B) 12%¢ | ~TM) 6l {41, /9ve1 / km/h
(C) O0ge D) FHIAFETE | TWE : 1 AT
Alto and Kwid' is travelling towards each Sl 2001 & 2006 9% B8 91 % 4 _‘Hﬁﬂ? T
other with speed same as their average | | 63T 8 w0l # wifret 8 3R Swht Biga
SPQE(-I d]_ﬂing ﬂ13 gi\re]] 10 d&}"S. After : EI'E?[ EﬁfﬁleiTﬁ EI'IFT H@T_?;’QTFHT % | (E{Tf 2@'[}[} a:i
~meeting, they travel to each other’s g AL 1 Al HIS HHART ot o i 3T 8 IR
starting point. If initially distance between ; 7 & %4 DISH AT R |) -
both cars is 2300 km, then find difference | Q- If_lﬂs- h{'ﬂhm' 66 : h.Study %113 following line
of time taken by Alto and Kwid to reach | SoPt WHICH gives the number of employees
e g —s who joined the dl _
their destination after meeting each other. - in 1hé beginnin Eg?gaﬂig a-;:1:;111‘ c‘ft?ntﬁhgﬂ si?cl?rg:rns}r
ours 12 hours om to 2006. ere i3 no
(A) 22h ®) from 2001 STK employee
~ (C) 0hour (D) None of these {g;“}?ga‘;hgﬂ%%ﬁpﬂm’ or left the company during
59. feumw 10 fodt % o @w il g sEEh ' 9
e 2000 7 =it € wifis demr =5
i 3fea nifa & 875 Top. i, < amm & forg, g mitialstrength of Employees in s iﬂgg“ u
S g 1 fw e 10 Rl 3 A R e ‘E,E-mm_m_rm a0
£.2 5 IH 3igd i & 990 6., < wmE ‘qum W’” |
1 Hﬁﬁﬁﬂqwmﬂ Hﬁmﬂi‘fﬁiﬁﬁm | %-Eijgm 400 450 - !
* -Find the ratio of the time taken by car z 0 2001 2 2
Mim'dtﬂi"travel 875 km with the average e o “zarli{'l:im ML A, A
.. Speed of it during the given 10 days to | | —7 VECHraTulH s
the time taken by car Swift to U'.a\*ﬂfggﬂ ::;;;f:;lphh‘cﬁ wha j.uillﬂ] company
Ez with th&aﬂ\fﬁ!ag%"spcedwgf it du:ing "™ Number of emplovees nﬁuﬁéumpuny J
“ the given 10 days. : : _
(A) 749 ot 62. gﬂﬂagaﬁml FoAl H R St 6
(B) 44:47 / The mumber of empl i 5
d,-{G). 56 : 99 the company duriggﬂ%%eés “fﬂrklng =
(D) % a I3 78 /None of these A) 4650 5000 - |
i C) 5300 5500
04 I s

t.melUPPCS1 | <o facy (coog 1o [slic®sy
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63. & T srafy ¥ S fopeh ot = A e A
wMfiet 81 et el ol =T He
F1 HIH Sied gt HHE! it
AT H ST fepeaT & 7
The ratio of the least number of

E&% employees who joined the company to
the maximum number of employees who
left company in any of the years during
the given period is
(A) 14/13 B) 9/17 -
© 12/17 L[(D) 9713 |

64. Tora =¥ # firset o &) gorn & S0 B

- A FHeE! 6 den § gl gt /

Al A § 7 | _
For which year, the percentage rise/fall
in the number of employees who left the
company mn;pa‘red to the previous year

E%%cg_g??, .% 2001

2004

drﬁ?,{:u :

65. 2002 ¥ 2003 % Hu=El i G |
ST femem wiersra <Ft afg /w8 ¢
The strength of employees increased /
decreased from 2002 to 2003 by
approximately what percent ?
(A) 2% (C) 3% (D) 4%

66. 2003 3 U W H HE Grel B Hl

" A, 2006 3 A T a1 FERAl

o T w1 e fea wftera et 7

The number of employees working in the

company in 2003 was approximately what
of the number of employees

working in the company in 2006 ?

«gcﬂ.) 96.15%  (B) 93.75%
1]

D) 97.35%
TG, 678 71 : £ TG 1 I B 3N

T4 TR FE b WA |
Q. Nos. 67 to 71 : Study the bar graph and

67. e af # gorn # frw af s &
Wit gfig wed arfres of 7
In which year the percentage increase in
production was maximum as compared
to the previous year 7
(A) 2013 (B) 2012
(C) 2015 ﬁ(D) 2017

68. fou wu faren =l o RaefiAl #1 IereA fu
e a9 % aftea ST | Ffhs A 7
In how many of the given years was the
production of toys more than the average
production of the given years ?
(A) 2 = (B) 1
© 35 .o KD g
69. 2013 & 2014 % faeiHl & Iy
e wierera firrae feeart ot 7

What was the approximate percentage
decline in the production of toys from

2013 10 2014 ?
{A) 15% (B) 10%
A 20% D) 25%
70. 2015 3R 2016 w1 3fwa I
Pt 3 @ R vt % T % st

IaTed ¥ farerger s o1 7
(A), 2014 3 2015(B) 2016 3R 2017
HC) ™ 2012 372017 (D) 2014 31K 2016

The average production of 2015 and

2016 was exactly equal to the average
production of which of the following
pair of years 7 .

(A) 2014 and 2015(B) 2016 and 2017
(C) 2012 and 2017 (D) 2014 and 2016

i d on it. .
answer the que%b;:;:;;m P 71 2011 1 g 2018 # Raefl & Iee
o PrommnaToys by company Gn Lakis) ore thyyear e sfrera f Reat off 7
5%100 B F What was the approximate percentage
éig increase in production of toys in 2018
E-E 40 compared to that in 2011 ?
137.5% 183.33%
g 2014 2015 206 2007 2018 &m'?‘l & 111.11%
2017 2012 2013 ;21!4? 'jiﬁ (C) 35% (D) : ‘
e 04
-é 11 g’ﬂ' xlbﬂ

w2 tmelUPPCS1

T

R e

O TISERS IR L I L IR R ARSI R
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72.

73.

74.

dmror  fren 0 (FET-ga) = afy
TER I GEE I HH __ hEngd
SgadsRE gl
A) s | (B) WESEl |

© ofmm (D) T PE T
The pietra dura or coloured stone- inlay
work on marble became very popular in
the days of i _

(A) Akbar  ~(B) Shahjahan

(C) Aurangzeb (D) None of these

Frefefiaa # 4 feg g d af8 1 &l IR
IRt R T AT 7 |

(C) JUISMIIT (D)  HeHrEm g
In which of the following 4ge copper
was first used ?

(A). Mesolithic Age

(B) Chalcolithic Age

(C) Paleolithic Age

- (D) Neolithic Age

ﬁm%lﬁaﬁﬁﬁsammmﬁa

wﬁﬁrma@mﬁmwm?
(A) HR (B) T
J© =ik | o)

The first Buddhist Council was held at
which among the following places ?

(A) Kashmir (B) Gaya
(C) - Rajgir (D) Pataliputra

75. ﬁw%iﬁaﬁﬁﬁnasmﬁs%ﬁqm:{m

AR et o o -
M) MHEmEE
AB) il T |
©) Mg . '
D) unaaﬂmaﬁt

Whe among the follﬂmng 13 the person |

whose ‘name was also E-B\Fa.nampl}ra
,P:}'adaBSI 7

(A) Mauryan Emperor Chandra gupta
(B) Maur}'all Emperor Ashnﬁ:a !
(C) Gautam Buddha

D) Lm-dMah&wr W o

-

ol

76. aastes%mmq'—ﬁfﬁwmmgé 9 Y

mﬁﬂﬁ'ﬁﬁﬁﬁﬁmwm?
(A) THEIE (B) Hmgr
HC) WEEAR | (D) YrEER

When the East India Company - was
established, India was ruled by whom
among the following ?

(A) A Gupta Emperor
(B) A Maurya Emperor
(C) A Mughal Emperor
(D) A Sunga Emperor

77. MGR-UWHEH HAigleW frefafas d @
Terereh g & fema e o 2
HA) Tedten wa
(B) A%, e -
(C) ST AR S EYE
(D) = Fyert

The Bhoodan-Gramdan movement had
been started by ~whom - among the
. following ? -
(A) Vinoba Bhave
(B) M. K. Gandhi
(C) Jayaprakash Narayan
(D) Acharya Kripalani ., :
78. TE TE AT F daw, Frafafaa § @
fre amfas wrfed T mdsh
STEIEH o Sherer gest as Hifir 7 r{a?{'al:
femwsfifparar s
(A) _dfear T
+(B). FHHeATCH FErTAT
(C) Hedwm
(D) ¥ 4P T
During the Dandi Salt March, which
among the following social ‘activist ‘had

* persuaded Gandhiji not to restnct the
protests to men alone ?

(A) Pandita Ramabai

(B) Kamaladevi Chattopadhyay
(C) Madam Cama

(D) None of these

12
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70. mﬁmmaﬁaﬁﬁ 82, Freafufe 3 & @ wEEn fww #
A3 o it s A e s e SRS FH T E ¢
(&) el - (4) WebwL (B) WL
(B) 3FAfh! I (C) ieinfiecs, LgD) S T SHCIT |

T Which of the following 1s not ihe

© Sfwi oo, factor for influencing the
(D) VPRI S population distribution ?
The first clear expression of nationalism (A) Urbanisation
came with which among the following (B) Minerals

revolutions ?

(A) The Industrial Revolution »
AB) The American Revolution

(C) The Russian Revolution y

(D) The French Revolution -

80. TR % Fraferfaa # & frm sifufem &
1o wes o fijy wia 1 Fafogan ?
(A) R e sifEm, 1947
(B) et FISHl
©) Torem fomm

~(D) W GGR AT, 1935

g

840

(C) Industrialisation
. A(D) 'Availability of water :
83, Rwa & @@ I A A THE
. FaafREe |
(A) ¥R AT (B) A ST
(C) et 3ift foree (D) 79 & WIS e
Mount Everest — the highest peak in the
world is located between
(A) ‘India& Nepal (B) India & Bhutan ¥
~(C) Nepal & Tibet (D) None of these
fferfaa ® & vIRa A “saRge T
I FR L 7

(A) 5 3 7m 3 Ferft g A o o

yich among the following Acts © the . a4 .
Government led to the creation of the (B) I AT & Je1 3= a9HH
Sind Province from Bombay ? (C) WR=mgEL.
(ﬂ) Indian Independence Act, 1947 (D) TIﬁ aﬁrwm
(B) Wavell Plan ** Which among the following is the main
(C) Cripps Mission = -aajsuifq;-"ocmberheat" in India ?
India Act, 1935 ~(A)- Low pressure system in Gangetic
: ' RRT U igh temperature agsociated with
81, whrg 3 1 AT wen feee ﬁmﬁf&m _  high s wﬁ??ss: foieg
M T s e, ' (C)-+ Low velocity winds »
(A) e ersaa T P (D) Hotand dry weather =1
[®) gamaam el @ 85, I W e haf e & (GMT)
T fie : ' §_ amd
(€) wmaHe it : :
g i - (A) 4w2 (B 7%%
aam (D) =gIrEl S R~ 1 g
TG N e, : 'Indian Standard Time is ahead of
(A) LalaLajpa - *" 'Greenwich Mean Time (GMT)by ___-
®) Subhash-fﬂ;:dm Bose (A) ‘4 Hours ~ = (B) 7hours
(C) Bhagat S 1 ‘o 3L
(D) Chandrs Shekhar Azad (C) 52 huursl {D)- ”2_ hours

LY
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86, freiffea # @ M @ T Fifa B

(A) T I A Hest
®) ﬁmﬁﬁaﬁﬁﬁ?ﬁaﬁﬂ'&{

© fi=m
(D) T@aft
~ Which among the following was a part
- of the green revolution strategy 7
(A) Chemical fertilizers and pesticides
(B) High yielding variety seeds-
(C) Irrigation- |

87. & I TR #1 v’
. R ? _
(A) TR (B) T
(C) WU . |AD) +hEl |
Which of the following rivers is known

as the ‘Sorrow of Bihar® ?

(A) Damodar (B) Hooghly

(C) Ghaghara (D) Kosi
@ A i T FeEel 5 sifm
Frefefead d fear gu st g oft 7
(A) ¥R % Iwgafy
(B) foa afm
(©) e fawm uitwe
(D) AT

The final approval to the five year plans
of India was given by whom among the

following ? :
(A) Vice-President of Indiay
(B) Finance Secretary,

&(C) National Development Council

AD) Ministry of Finance

89. et oft fpramfien anferasen % wrfis

il A, srferpin nfeffin @&
dEEE e E |
(A) T
© T -
At the initial stages of any developing
economy, the majority of activities

90). %ﬁm’ﬁe’nﬁaﬁﬁﬁﬁ?ﬁmﬁﬁmﬁmﬁ
2
(A) TE.UH.EH.

(B) WRd e &% e
() ard .37, T é’fg
D) faedt |
Which of the following is not a

Commercial Bank ?
(A) HSBC

(B) State Bank of India
' (C) ' ICICI Bank
(D) SIDBI

Frefafaa # & $9 @1 gEwS 89 &5
SUHA HHG % d8d Uh TR Hr giia
Fhefra fenmnd 7.

(A) Taunfa umd @) Sl fom
(C) ThewEIiE (D) T & 15 Tl

Which one of the following public sector
undertaking is established by passing a
special law under Parliament ?

(A) Departmental Undertaking
(B) Statutory Corporation

(C) Sole Proprietorship

(D) None of these

WA 61 T wrfemfol § frefifeg 3§ 3
TR TEE 7

(A) SHmwfa (B) wwefy |
© wumeEht ) T % et

In the Union Executive of India, who
among following is not included ?

91.

92.

belong to the _ sector. - (A) The Vice-President

(A) _IS)E_COH (B) The President '

®) “Tertiary (C)  The Prime Minister

(C) tion Technology D i

(D) Informa : (D) The Chief Minister of States
a (s s ©
M To join us on telegra .
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A

93, Traferfam & & @ @ sgeSe M
e # gate e 6 I 3R
A FARAR ?
Which of the following article is about
Establishment and® constitution of
Supreme Court in Indian Constitution ?
(a) 120 (B) 118
© 122 . [ 124 |
% i R e
F B A2 |
_fA) HarE e 31 3= e

B) TEq W&

(€ gl ‘

(D) 3 U3 &l

__ has/have the ' power to
implement the Fundamental Right.

9%,

97, ﬁmﬁwﬁaﬁﬁaﬁqmmﬁwqﬁ%?

(A) e (B) “hIed
() spem | (D) et |
Which among the following is not a
plant fibre ?
(A) Jute (B) Cotton
~AC) Nylon (D) Flax

) i i Frefafen d F fRE R FRR
AR ? |
(A) T=E [ (B) & A A |

©) wEhidgh (D) AN

The colours of the stars depends upon
which of the following ?

(A) Pressure.,

. ; B) Its temperature

i o C(}ll.l'la.ndl-h.gh'l:t}uﬂs. (C) Distance from earth
; % %T;;iggmmm (D) Pollution of the air |
.ﬂ [_D} Nﬂﬂﬂ_ﬂf;thﬂ.ﬂﬂﬂ' ; i 99, Wﬁﬁﬂﬁﬁ?ﬁﬁu@aﬁﬁ%
05, Wi W, USE  WEEfNeR SR T foru Rrigr @ 7

fpferiaa 3 & fra wETeE % FfiA g 7 (A) ifea spfo e

[(A) & weeE|  (B) T 4(B) Fresaia. |

©) TmEEE (D) FHABETE (©) e S

In India, The National Human Rights ©) st ;

Commission is under which of the
following ministry ? ¥y
~(A)- Ministry-of Home Affairs
(B) Defense Ministry
(C) Finance Ministry
(D) None of these
frfafaa o @
yey H I= ~AEEHE
w8 7 |
(A) gare AR 4(5) ¢
() Tgafa (D) 3

e

wﬁﬁﬁﬁm_'

Who among the following has the right |

Which among the following gases is
responsible for global warming ?

(A) Compressed Natural Gas

(B) Greenhouse Gas—- "

(C)' Piped Natural Gas

(D) Oxyeen | .
md.mﬁﬁmmwﬁz%ﬁwﬁ%ﬁ@ﬁﬁ%ﬁzﬁr
FTHFAEARAME?

) g AB) WS

VO TS (D) T

; : : Pneumonia  affects , which: of the
fo set up a High Court in any L following part of human body 7. .
Territory ? . (A) Kidne (B)" Lungs
Court (B) Parliament ¥ . i
(A) Supreme €O )  Li . (D) Heart .
() President () Nopeofthese j ( )_ th?:t;r. S B }
E-- L 15 04 |
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